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AN (LEISSHE/LLHAY)
el (2 )
L FE - SR(EH) - ARAY - BAS e G HIDE2
637,862 644,930 AT,068
(L3I T/ABHlH) 464,614 466,940 N2,326
2l 198,814 184,140 14,674
2te] 30,000 8,500 21,500
o2 | 8,500 8,500 0
SS2gH 8,500 8,500 0
OWLh)| 2 F| SR
200,000& = 10CH 2,000
OdE KA 1,500,000& * 14 1,500
OXte =Xl 5,000
—SEA =A 2,000,000& * 1CH 2,000
—3t=i Al 2,000,000& * 1CH 2,000
—&DIA = Al 1,000,000& * 1CH 1,000
401 AlEHIZ SO 21,500 0 21,500
01 AlZH] 21,500 0 21,500
OIS AIME LZl&dl €X
21,500,000& * 14 21,500
gl 1,040 9,318 N8,278
307 212401 1,040 1,540 A500
01 =7 =4 1,040 1,540 2500
Ogoizel SHI(HEoiI)
15,0008 » 3& * 12 540
OHOAFZ R Zellbl 500,000& * 1+ 500
=Xl2el 43,200 43,200 0
Lot2 | 43,200 43,200 0
3324l 43,200 43,200 0
OIzs, 2ets 8JIRs
6,000 * 4508 = 128 32,400
ootzs, Bets el
60,000& * 4505 = 40/100 10,800
HECCTV ®XAl2el 3,200 3,200 0
ER=leegetall 3,200 3,200 0
3323l 3,200 3,200 0
OoggE CTV &JIes
5,000 * 40JHA » 123 2,400
OgdHE CCTV RA2=
50,0002 * 40014 = 40/100 800
23k At 6,459 27,650 221,191
elkale] 2,932 21,209 18,277
04 JIZtN2Z2 RS2+ 2,932 21,209 A18,277
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SN Bew
HE: HOO A (UUBIHY/AHE)
ool Ha2d 2tel (el &)
S - B ERI(SH) - MISAY - BAS Of ko cla SimE==]
02 E524| 5,200 5,200 0
OoNlIeE, s423 400,000& * 12& 4,800
OAIEEHl |l 22ld] 400,000 * 14! 400
ZFOIREXI Jlgtd st 78,260 78,260 0
204 AP AH| 2,400 2,400 0
03 EFZ A 2,400 2,400 0
ONSEYSFA 100,000 * 29 * 128 2,400
301 YB3 75,860 75,860 0
05 & - 01% - EHEEs24s 67,820 67,820 0
OO0l &=+ 65,520
—JEgse 300,000& * 149 * 123 50,400
—&0= 300,000& * 14 * 200% 8,400
—glo|atsag
20,000 * 149 = 23| « 12& 6,720
Opt& =g 50,0003 * 46 2,300
09 HAAHIXIRZ 8,040 8,040 0
Oclgaot E9| S 3&ATt 24
7,000& * 60 » 123 5,040
OXHHZBATAl SE20H 2o & ZAd|
,000,000& * 14 3,000
A8 FRIEHAANY 265,800 282,800 A17,000
A8 FRIEHAAA 265,800 282,800 A17,000
401 AIEHIZL 048I 265,800 282,800 A17,000
01 Al&HI 263,700 281,000 A17,300
O FOHEHAANY 263,700
—g212| 2g84Z =2 &ZHISAt
00,0002 * 210m 21,000
—Ea222| ZmALIZ2 =2 FHIZ A
100,000& = 136m 13,600
—2=1cl OtS32 212 i=2FUISAt
100,000 * 220m 22,000
—ds2e] SAUSRES =2 EHISA
100,000& * 270m 27,000
—Xl=1cl 0=t At 2 Bi=2FHIZ At
200,000& * 90m 18,000
—Xl=2c| Mool Or=etzd ZBISAt
136,000& * 100m 13,600
—221e| AZus & s=FHISAH 2 1A
200,000& = 75m 15,000
—2222| 022 =2 & =2 ZUISA
190,000 * 100m 19,000
—d=212 A2 =2 FHISA
100,000& * 180m 18,000




A BaH
I W20 AIY(YIDIHE/UUHE)
CHRl: AR FOIEAAIY (S &)
- % s T HET
N - B S2(SIH) - HIRA - BES Ol &b2H Ol Avon Hws2t
—d=22] 22 2 IMHL LHSEBAF
500,0002 = 37m 18,500
—S&12| 002 & BI-2FHISAH
185,000 * 100m 18,500
—ZE22| 20H3 2 HHISAH
100,0002 * 185m 18,500
—3222| 2L0IFEX AIHHHISA!
230,0002 * 100m 23,000
—2232| 0122 B2 FHISA
100,0002 = 180m 18,000
03 AlZS0HHI 2,100 1,800 300
OARD FLIHAAIY AlL20HYI
2,100,000 * 14| 2,100
Y 2HHHI(H2H)(JIEHIIE 173,248 177,990 N4, T42
ol 66,238 70,250 N4,012
ol 2| 66,238 70,250 N4,012
101 Q1244 66,238 70,250 N4,012
01 £ 66,238 70,250 N4,012
OAIZII224Y
10,9528 » 14 * 3pAIZt * 128 66,238
J|=a3dl 107,010 107,740 AT730
J1=23l 107,010 107,740 AT730
201 L2 45,810 44,040 1,770
01 AL22t2IHI 32,310 30,900 1,410
O=AEX 7 16,0002 * 152A x 122 2,880
OSZ20§AH| 7,0002 * 44! « 158 « 12€ 5,040
Ogetr22 100,000 * 12& 1,200
OARS CHTHI 50,0008 * 12 600
OARL 24 7,200
—2A0| 22l 500,000 = 1CH 500
—Talg 2l 100,000 * 4CH * 50/100 200
—=2AD| €Y 200,000 * 53| * 1CH 1,000
—Z2IE EH(S%) 200,000 * 53] * 4CH 4,000
—TRIE EW(Z21)  200,0002 = 33| « 1CH 600
—PC =2l 100,000 * 15CH * 20/100 300
—JIEF #=2lbl 50,0002 * 12& 600
ODJIEH AF22t2|H 5,000 * 15 » 128 900
Og-=xH| 14,490
—x 60,0002 * 1% » 118 7,080
— =3 30,0009 * 1% » 247 7,410
02 322l 13,500 13,140 360
02222 2 MAl 13,500




SN B2O
& AY2I3Y(B22)(IIEHIIEH
el Jl=3l (etel H3
S - R - SRIEH) - ARAY - BAS e G HIDE2
—SER= 135,000& = 12 1,620
—RUES AIEE 20,000& = 12& 240
—MI|IR3 750,0008 * 12 9,000
—FI| QHEA F2B(AIRL)
100,000& = 12 1,200
—FI| QFEA 2B (EHYRLTSY)
100,000& = 12 1,200
—dotr=R=s 20,000& 128 240
202 04l 48,600 48,600 0
01 =LHAOLI 48,600 48,600 0
O 0AL| 20,0008 » 156F * 122 » 123 43,200
O22| 04| 90,0003 * 15& = 4L 5,400
203 HR &I 10,200 10,200 0
01 J|22ggex=a| 6,600 6,600 0
OgY JI22ZHRFAHl  6,600,0008 » 1H 6,600
02 JRONHR Y| 600 600 0
OFBIRIHR Y| 40,0002 * 15& 600
04 FX2E SRS 3,000 3,000 0
ORAN=ZHRFA| 250,000& = 128 3,000
204 [ 2| 2,400 2,400 0
01 MRS+ E| 2,400 2,400 0
OXNH=E R+l 2,400
-8 150,0008 » 18 « 12& 1,800
—2HE 50,000& = 1& » 1238 600






